
2uruururnnul hrJ

ur3bpfr qh\u{up
Q. bqurblurh

> _{hmp{urp}r- 20l4p
cILNhULbCF'TIL

u3fnr.uh gu.lueu'TlbsufuLh

'IlruurrflrpruunrL'c--ZZ Srutlnt2fr .I-pqh utptt flt purqurpurulttnrupurtr-

$hburhururlnnrlurh urqplmpp Unatd hwdwlhplt 20 I 4p. p1nryh

Qhdurtr urnurp\ur;|r
Qtllurtr

&h

ldtfn-gll
ung)

?unlnlurtr
il[ur{npp

U[ur{np}r
qltttp

Q!4rudttrp burluu
(+p*.I)

€urtrur\p

uh2urbgb\
qn4[ Guln

CVP

4uruur\urp
qrlurh

urhrlurhnu.Ip

Onurqhpp

Ututuhnilp-Othhuaftp L qnptuAhp [upfihhbp, ulhuutQuth lunu{upn{-
2998000Futdltlt 0l Iunu.tp 7 lutu 7

/n n t n nt n t o h r n n n h h ln n h n hn h a nn lnnn hu lt ru h nuuu It unadu h )
(Iunuhnhhn 2437000
4nutuh[ttutbutthh hnqahn, utt4 B{ntd /4261/ /26900

301 97630 fdnun 44 $nnrl]udju.h l21x29.71 FCUZ mr{r 2000 90000 AE

301 99500 fdn nurut urhurb /urnurqurh urr/ FCUZ huu 80 4000 50

30197210 fdnBuruurhurh/h nrur'|t tuqrind/ trcuz huu 1000 5000 5

391 32300 Qnr hrfhnur hh Burnrul-rB /$urtt/ Feuz mrrlr 1000 5000

30'141000 2ruorhuuurnp uhnurhh /hurrlrntttrurnnr/ trcuz huln 4000 8000 z

22600000 Crmurft:lh puln&hlrh purLurp FCIIz hunn 250 250 1

3019211 Cr.nullurh purn&hh Feuz hunn 250 250 1

30234600 \nhl /$rhrl 4 GB FCUZ huu 2300 4600 2

30199230 Unu,rn /hulJurtV trcuz huu 20 1000 bU

30199232 Onurn,rJhb,A4 $nnrfunnh hunlurn trcuz huur qn 2500 6n

30233151 UburdurnruL CD trcuz huu 150 1 500 10

30197320 guinhr/uututhrr/ rJhtuh 20 thnBh hurdurn FCUZ hum bUU 3600 o

30192121 anh> /cl4hturUnp/ trcuz huu 100 1000 10

30192100 Ghrnhh huuurnurL /ruruuhL/ ONIT 
'

huu 100 200 z

SV w ltuulnpuutfi h Qnzphp, ut14 ptlaul /4264/ 692000

0 9132200 Fhhqhl-r/Ghcmttrur/ trcuz rhrnn 470 500000 '1063.8

3435000C Utrhilhhn trcuz hurn 25000 100000 4

31 440000 Junuhnq trcu2 hurur 30000 30000 1

4291 3000 Sntnh $hrun trcuz hurur 5000 30000 o

0 921 1 100 Cupdlryfr lntq trcuz thrnn 1600 32000 zv

4utp2utlluttt uullzpwiqtnLdhbV,utl4 p{nuI /5 I 22/ I / /8100

503 1 0000 Zurlubunq>uthb uupphl tr uuppurlnlmuihhp FCUz hurtn 722100

397 13430 @n2h\nr1 trcuz huru 40000 1

30239140 Surh/ur uudttruhuhrluLr rltptLu/ u\ubtp, luqbpul|rtr huln 200000 2

391 1 2000 Urannhhn hu-rtn 156000 o

Sputhuulnpnu4fitt uutpput{npaulIthp,utl4 p{nd /5 12 1/ 500000

50112100 OunurnnruLruh ullurnrihphhurth Lul:lhururt r.lhpurtrnpnqntd FCUZ huru 500000 1

Aunutntmrnthhhn 561000

71314000 Lt. hhhnqhur /4212l trcuz 4puril 120000 1

65'100000 QnurJrutn urb urnurn nril [r qnu hhnurqnld /42 1 3/ FCUZ nnulil 10000 1

6421 3000 Shpurlurb hhmuhnuurhuru burnu.rlnlplmhtftl | 421 4l 4nuil 120000 1

64212000 Foorurhlr hhnrulunuhhnh burnurtnlplnthhhtt | 421 4l trcuz nDurd 136000 1

32412110 hlrrnhnhhrn Lurruh uiruruhnr.lmrJ 142141 4nuril 120000 1

6651 0000 Unrurhntlrucnnl:tlnt\t I 421 5l nnull 33000 1

79 1 40000 Shrlhltururlurlturh brunurlnr-p1nthlftp I 42341 FCUZ 4lunl 22400 1

up*qhrn



Uh{utmnip_ Eh4huthnq phnrlt l, ut11 tunulntplnthtthp _ 152900trrudfb O/ funr-rfp.l auru J
Awn ta I n Ua I n ilt h h n, u n pdnur 742J2/ /52900

48000000
Qnrlpurhtup\|r L hn{r hurp\}r rnhqhlutnrlru\urh
ulluinrJulnurqtlurb hunJurLurnqh uhnrlhnh urutuuurnbilurh rldun

.trcLI2
+Fulil 32900 1

48000000
Zuilu1hpu3|rh \urnullruprfurh nh4h\urur{u\ruh hulftu\urpq}r
uru ruurunl.nfurl,r rl durn

trcu2
rlFurd 1 20000 1

Unurqhnn
Ulrrlurbrrnlp Ctttlltwhntn Etnqpl2 huthnuuhh tutnuntwaLhbhn

4482000Iturdhh 0T funuln 6 'Iuru /
Aunwnuatnthhhn 482000

4800000c Zrrlrf urb urpq5url hL burnurr mrar n tltltbn I 42321 trcuz 4nuril 12000 1

7000000c 2urrhruqnrlurL Eunurrnlnrnr-hhtn I 4241 I trcuz nnuril 220000 1

7000000c
Uh2urpd qnr-jplr qpurhgriurh h ur;l \ur4urunpur3fh
burnurrmrarnrhhtn 1424'll

trcu2
tFuril 100000 1

981 33100
LrllrpururlmpSmhhhp huruurpu:\ur\url:
burorftuthnumrarnr-hhhnhb /48't 9/

FCU2
lfuril 1 50000

U2luuttnwtutzbn 4000000
45000000 lhutrhururunurhqh nurhlhdh hhrlbuhnnnomrJ /51 1 3/ Fquz nnurrl 1000000
45000000 2unlurlhpfr qpnuurlgnr hhhruulurtnfr hhrJhurhnnnqnul /51 1 3/ qc nnuril 3000000

onuqhpp
Utrrf urlrntdp_ 4 1nz4 ut tn ttu h un t p p t h

40000truudhjo Q4 funtilp / auru /
Aunutnryamzhbhn 40000

79000000 9urnul.luuurhurh bunurrnrBrmhhhn /4235/ Feu2 nnturl 40000 1

Opurqhnn
Ulr{urlr:rnlp [uthwwwnhuthhunuhuwnnu

3000000trurd$r @ Iumrtp f aruu /
(nuu nnrchuutrhh Sutfuuhnh aanEunhultnth ntnuulnrnolm h )

Ucfuuttnwhptthn 3000000
45000000 ZbLtuqruuh hfrdhuLnpnqnr-[ 151 131 trcu2 nnlrrd 1000000
45000000 d.urLrullurnhhtnh hhdbuLnnnqntd /51 13/ ,rlc 4nuril 2000000

up*qhnp
Utrrlurtrnr-rfn Unruhuthntnnilt

2154300trurdhb O5 fumrlp / 'Iuru /
Otrrnrrtrnr rnnr hhhn 2/54300

90500000 ZurrlurJtrplr urqpruhruhrlurh burnur3nr-plnrhtrHp I 42131 FCUZ nnurd 1440000 1

90600000
Zuiluihpujfh $nrlngLhpir uurhilnruju\urh L r.lurppilurh
Eutnrrrnr nrnr bbhn 142'l3l rlpuril 714300 1

on-qlrp
Ulrdrubrrtdn <Dnnnqtrhnh pzuutJnnnuf

2582000trudlh @ tumdp / 'Iuru /
(nuu uano h tnw h tt 6w fu u h n h onn tun fua It u h nwuu b u nat[u h )

Uqluwtnutltpbbn 2582000
45000000 <Dn4ngrul|rtr lntuullnpmp3urh gurhgfr \urnngnul /51 12l ,tc nnulrl 2482000
7 1242000 LurluurqbulhhnurqnuurLuh burluuhn /5 1 34/ trcuz nnuril 1 00000

0n*qlrln
Utr{ urtr:rrrfp_ U2 ut I7 n q p lt u tt h p, u 11 nt[p h b p, h b hu pnhh h n 550000trurdhh Od funr-rfn 2 tluru 3

Uwnuthphhn 550000
39000000 | 4utpsut h wh uutJtpwt/npnufit hn /5 / 22 FCU2 nultn 550000

ol*qhpu
UL{urbmrln Luilu tu ntu nno u It u [t lt npn uanilt 325000trudhtr 09 fumr.te / 'kuu /

Uutnutbohhn 325000
39000000 4utn tut lt ut fi uutnoulnnntdtt bn /5 / 22/ trcu2 nuu 325000

CLnurtlhhn 16284200

ftunnurpnq Q. 9ur4urluJurh


